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Do not opan this booklet until you are fo1d to do. so. .
G This is 8 test of your compatence in high school algebrae
--:N;gFor each problem: there are listed 5 possible ansgwers, You are
o Bo work the problems, determine the correct answer, and Indicate

-ff}iyour choice by making & heavy bleck mark in the correct place.
' fon the separafe answer sheet provided. A sample iollows’zi*-

1‘- If 2}{ ] 3’ t'hen X_equalsg . . o . |
<1)"2/3; (2) 33 (3) 635 Y, 2.3,
’3/2f {5) none ef-thaee,
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i The correct answer for the sample problem is " /2" whiqh.is
'vi'answer (LY so you would answer this problem by making a heavy.
' lack'mark under space li as indicated above. “-'“"u't L

If'you should change your mind about an answer, be sure to f**-5655~
completely.  Avold willd guessing, as wrong ariswers. count
:.t,vouu Do not mark mors %han one answer for anv problemﬂ

'told to do so, open your best booklet £o. page 25'and'
begin.- When you have finished one page, go on to the nexto. The .
working time for the entire test 1s 80 minutes. o IR
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would take 1/2 hour longer to run 180 miles. Which equation
satisfies the given conditions?

(1) x2 + hx - ko = 0 (2) %2 - hx + 1o = ©

(3) %2 - bx - 1Who = 0 () x2 + hx + 1o = 0
(5) None of thJ;e_

When simplified\ﬁyjyzgggg {‘3yn + %3 reduces to
(1) 3942 ¥ (2) o () 347 g1
(u){;y;l (5) none of these

If y=mx+b, if y=-1 when x =1 and if y =5 when

%k =1, then m and b must have the values

(2) m=-2, b==3
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(3 m=2, B=-3 (W) m=2 b=3
- (5) DNone'of these - i '
-_:Eight students are assigned seats at random in a row.: Thé o

- probability that two’ particular students A and B, will be
Tseated glde by side is ST S ' _ '

w o @ 1/8 7_ f 3(3) 1/56
W) M (5) Nome of thess
'If P stands for permutations and C for combinations and if
Pﬁ'x 20( 62 1) then n hes the value .
(1) 4 | (2) 7 (3) 6
4y 5 (5) ©None of these

If one root df xa + px+q=0 1s 3 times the other root,
the relation between p and gq 1s necessarlly

(1) _ p_ = ;% (2) p .o =4 (3) _gfz
a q 3r p

9
L
() p2 _ 16 (5) None of these
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If the speed of a rallroad train were lessened ! mph, the train
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7. The length of a rectangular field 1s 3 tlmes the widtho The
formula for the srea A& in terms of the perimatev is

(1) P = 8}L%« (2) & = w%gp | ”{' »%rp

;‘.!5

(k) P :J+VC%§T (5) WNome of these
8., When simplified x ~-2- reduces o3
Foaalt
M orfod @ gl 0 g
(h) =x { x + 3) (5) None of these

x + 2

The graph of vy = 3X2 - 2x + k otuts the x axls at the polnt
whose abscisgse ls 3., The value of k 1is

(1) 21 (2) =21 (3) 33
() =33 (5) None of these

I each member of the equation 2x « 3 = x -2 Lg multiplied
by x ~ I, what extraneous root is 1ntroduced9

(1) -1 (2) 0 (3) b
(L) =k (5) None of these

1l. Since a circle is a speclal case of ahiellipse it would be
. reasonable to surmise that the area of an ellipse of ma jor
cooaxis & and minor axis b is .

() .2‘7&5 (5) None of these

12, The value of logy, 56 - logy, 7 1s
(1) 3/5 (2) 8 (3) /4
(4) 3/2 (5) WNone of these
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If logy = % and log, & =y, then xy is

(1) ab (2) 0 {3) & +b
() 1 (5) None of these

The reciprocal of -3 + L1 in the form of a + bi ig

(L) -3 .. L1 (2) 1 (3) 3 -1
25 %5 -3 + 41
) %? (5) W f th
(L ?%W - L ) None o ase

The point A (12 + 5i) lies on a circle whose center is the
origin 0. If the radius O0A 1is rotated counterclockwise
through an angle of 270°, what complex number will express
the outer extremity of the radius?

(1) 12 - 51 (2) 5+ 51 (3) 5 - 121
(L) -5 + 121 (5) HNone of these

If you know that 1 1s a root of x3 + ax + 6 = 0, then the
quadratic equation which the other two roots must satisfy is

(1) % +x -6 =0 (2) %2 -~ gx+6=0 (3) X2 - %x =6 =0
(b)) %% + x + 6 = 0 ~ (5) Nome of these

Ir BKH + kx3 + x2 - lbx + it 1s divided by x - 2, for what
value of k will thes remalnder be 8¢9

(1) =16 (2) © (3) 3
() =2 (5) None of thesse
Ir 10 = x + 31 +yl, x and y being real, the value of
FRE |
% end y 1is
o o - - =16
(1) =% = L}-;e vy = ‘“‘5 (2) x = L’-y y = “—5_'
(3) x=0, y= 5 (W) x=-3. , y=-4

{(5) None of these
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The set of all solutions in the form (x, y) of

0 X v
X 4] vy = 0 is
X Yy 0
1) {(0,0} 2 {1, (1o, (©, 0]

3 =, ) w0 {0, v, x, 0}
(5) None of these ' '
The set of all x that satisfies'] 2% < 3} > 5 is
(1) {x:’x > h} (2) {jtiml “ X < ;} (3} {xj R =l 0P X > u}
{h) {x] X < =l or x > 1} - (&) None of these
The set of all =x that satisfies x + 5 < 2 =z 1I1s
(1) {x| x>35} (@ {x]x<-54} ) {x]x<5]
(L) {XZI*S/B < X o« 5} (5) None of these
1

The set of all x that satisfles x -~ 1 . 3 1s
¢ X - 3 x 1

(1) {x I -1 < x < 3} (2} {x:]x < =3 opr X > 1}
(\(3 {x'x<—lorx>3} (h)'{xlm_3¢x<1}

(5) None of these

The middle term of ( %m N yf??)6

(1) 160x (2) 2o (3) =2yox~1

(h) =160 (5) None of these

If the square root of x varies directly as y and inversely
as the aquare of 2z and If x = 16 when 2 end z = 2,
then when x = 9 and 7y = 2, 2 eguals

(1) % or *g (2) 2. (3) 1 or-1
(L) 1 (5) None of these
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Given vV o= 1/6 ﬁbc, a = b = ¢ and az = 262 then YV in tarmS“iﬁ'

e 1s

V=2 e (2) V= o3 (3) v=y2el

3 3 6
vV = Eszg;eh (8) None of these
6

x2)3 + (x2 - 1)3+ (1 - x)3 may be factored as Tollows
I (1-x)2 (x+1)  (2) 3x (x-13 (x+1)

3% (x = 1)2 (x ~ 1) (W) 3% (x + 1)3 (x - 1)

None of these

A set A 1s seld to be mapped Into a set B if each member of
A 1s paired _with one and only one member of B. If X 1is the

set {0, 1, 2} and Y 1is the set {0, 1}, them X mey be

mapped intoe Y in how many distinct mappings?

(1) 1 - (2) 6 (3) 2

(h) 8 | (5) None of these

The graph of 3x2 = S5xy - 2y2 = 0 1is |

(1) an ellipase {2) a parabola = (3) hypefboia

Ly @2 straight lines (5) None of these

The graph of J xl + _Iy, = 1 Jlooks like

(1) v (2) \\Y/
,////\$\u X X
N

(3) ///\\

(5)

\Y/ (4) 5’/

None of these
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‘A quadr&tic sxXpres
X =

sion &x2 4+ bx + ¢ has the valug _ 3 when

0, and the value 1 when x s either (2 +V 2 ) or
(2 - v 2). The expression may be written as

(1) x° - hx + 3

() hx2 - x + 3=

The function f(x)
the x axis at

(2) Lx2 « x+3 (3) % -Lx+3=0
0 (5) None of these

= ax2 + bx + c 0 for all real x, cuts

(1) at least one point {(2) no point

{(3) at most one polnt

{5) ©None of these

Thers are 15 polnt
l1ie in the same at
can be formed by }

(1) 458
(L) 276

(1) 280
() 1o

If eight coins are
“that at least one will turn head up?

T

35,

Two gamblers A and B arse playing a game of chance and'eaéhiﬁ“

player has staked

but when A has gained 2 points and B one point, they declde .
Tn what ratio should they divide the 64 dollars? -

to stop playing.
(1) 3:1
(4) L &1

(h) exametly one point

s in a plane and no three of these points
raight line. The number of triangles which'
oining the points 1a _

(2) U5 (3) 500
(5) None of these

(2) 560 (3) 1120
(5) None of these

tossed simultaneously, what is the chance

(2) “g“ (3) “gﬁ”

(5) None of these
32 dollars. They are playing for 3 points,

(2 2 : 1 (3) 1 : 1%
(5) HNone of these

:Find-ﬁhe coefficlient of afb3c  1n the expansion of ( a + b *+ 20)8




- Let f Dbe a function whose domsin is the set of all real R &
numbers. Which of the following statements is always true? . .-

(1) f(x -~ y) = £(x) - £(y) (2) f(WVx)=V¢f (x)
(3) £ (|x])= |f0] W) £(x) e £(y) = £( xy)
(5) ©None of these r

.\'

The sum of the roots of x2 +bx +e¢ =0 1is I Q?d their
product is 1., The correct expression 1s. .. .- "

(1) P 4ux+l=0 (@) = -lx+1=0
) AZosx-1=0 () x-hx-1=0

(5) None of these

 The Operations of L} and /) in the algebra of sets may be con-
. sldered somewhat enalagous to the operations of -+ and x in
' the ‘Algebra of real numbers. Which of the following true pro-
“oi o iperties in the algebra of sets 1s false for the corresponding
vl property in the algebra of real numbers.

(1 ANB=BNA (2) AN (BUC =(AﬂBHfmn@f¥

N
<M{AUmUc)fﬂumUc7'
'_ ,(5) None of these g

CoTE 5x’~-3, x + 2 and 3x - 11 form an arithmetic progression,
_.then the sum. of the first six terms is - :

  “(1).'—87" o 2) - | ._(3).V177_._
() (5) None of these |
.":..'The geometric mean between . F o+ 1 -gnd 52 -~ 1 1s
o (2) svZ (35
 _'”fh)' 7. : : . (5) YNone of these |




